EDEXCEL Assignment 2


Q.1 What do you understand by the following terms:
(i)
straight line depreciation
(4 marks) 
(ii)  reducing balance depreciation?
(4 marks)
A lorry bought for a business cost £19,000. It will last for 5 years, and then it the scrap value is £3000).
Required:
(b)  Calculate the depreciation to be charged each year on the lorry using:
(i)
straight line depreciation
(3 marks)
 (ii)  reducing balance depreciation (using a rate of 35%)
 (4 marks)
Q2. A factory makes mobile phones. It made and sold 25,000 phones in the year 2007. The total sales for the year was £1,000,000. (One million).
Its cost in 2007 were as follows:

Total variable cost in 2007  = 600,000

Total Fixed cost   =   260,000

a) Did the company make a profit or loss in 2007? What was the amount of profit/loss.
(4 marks)

b) What is the contribution of each mobile phone? 
(4 marks)

c) What is its breakeven point                                          (4 marks)
d) How many mobile phones does it have to sell to make a profit of £80,000                  .                                                                                                    (4 marks)
e) If he sells the phone for £45 each instead, and his cost remain the same, what is his new breakeven point?                                                        (4 marks)
Q3. Question 3  is the hand out for 7.5 exercise, page 242-243.

a) Ratio analysis  (part a) = 17 marks

b) Discussion (part b) = 8 marks
